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QR-backsub

October 22, 2024

sq2=sqrt(2);
sq6=sqrt(6);
sq3=sqrt(3);
QT=[1/sq2 1/sq2 0;
1/sq6 -1/sq6 2/sq6;
-1/sq3 1/sq3 1/sq3];
b=[2.3, 0.18,-8.41];
QTB=QT*b

3-element Vector{Float64}:
1.7536248173426374

-6.001249869818787

-6.07949833456676

x3=QTB[3]*sq3/2

-5.265000000000001

x2=(sq6/3)*(QTB[2] - x3/sq6)

-3.145

x1=(1/s92) *(QTB[1] - (1/s592)*(x3+x2))
5.4449999999999985

x=[x1,x2,x3]

3-element Vector{Float64}:
5.4449999999999985
-3.145
-5.265000000000001

A=[1 1 0;
10 1;
01 11;
Axx
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[ 1:

3-element Vector{Float64}:
2.2999999999999985
0.17999999999999794
-8.41

##alternatively
Axx-b

3-element Vector{Float64}:
-1.3322676295501878e-15
-2.0539125955565396e-15
0.0
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